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80 #! (2.03) 1.72%1.08 1.70 2.23—-3.36 3.06—4.24 4.04—5.37 4.99—-9.78 9.33—12.92
100 % (2.54) 2.15%1.35 214 2.81—4.22 3.85—5.33 5.08—6.74 6.27—12.27 | 11.71—16.15
120 # (3.05) 2.58%1.62 2.58 3.38—5.08 4.65—6.41 6.12—8.12 7.56—14.75 | 14.10—19.38
150 #! (3.81) | 3.23x2.02 3.25 4.24—6.37 5.83—8.04 7.68—10.18 | 9.49—18.48 | 17.67—24.23
200 # (5.08) 4.31x2.69 4.36 5.68—8.52 7.81—10.76 | 10.28—13.61 | 12.70—24.69 | 23.63—32.30
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VPLL-4008 =0.022186%xD-0.0777 | L=0.000000%xD+0.0000
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VPLL-Z4015 [=0.039555%D-0.1063 | =0.054349XD-0.1045
VPLL-Z4019 [=0.052005%D-0.1235 | L=0.068702xD-0.1224
VPLL-Z4025 =0.064245xD-0.1553 | L=0.124243XD-0.1541
VPLL-Z4045 [=0.119195XD-0.2113 | L=0.161544xD0.0000

1/2

renns: 2018F 7 BIRTE



VPL-FHZ120 / VPL-FHZ90 X EFREMEL XL 7 ME

LXY T RE
LY XY TRBIR L ZADFDL N S E T HEICI U TEREICS WAREAE T 5E, XA T AMUE PULEERRONT®) & BAEEED
FOPRILHEE[0|ELISHEZINSENOVEID €50 E R EBEED (28] £/13[2181£100%E L Z DIER &/ S— N CRLET,

HEEE LYXY T hE LYXY 7N
\ BREEEOD
50% j’“ Lo Xl 50% Lo Xl
50% ____i_ __________ % ____t _________ &[
® 50% .
| |
ZAAIE AHEE
L 8 NN
VS + /— L > Xdily
HS — / HS + VS EEBLLXYTME (L) [%]
- F VS_ EELLXYTME (F) [%]
o HS+:KFELLZXV T R 8 () [%]
VS _ BEEE HS-:kKFLXY T hE () [%]
v
WG BETE S8
BVPLL-4008 HVPLL-Z4111
‘ 1 3 32% 1 99%
—~ + — +
777777777777 32% 99%
[ | [ |
15% | H [ 15% 51% | H [51%
VS+=32—2.133X (HS+% /= I3HS-) [%] VS+=99—1.941X (HS+% /=13HS-) [%]
VS—=32—2.133X (HS+% 7/ IEHS-) [%] VS—=99—1.941X (HS+%/=13HS-) [%]
HS+=HS-=15—0.469XVS+ [%] HS+=HS-=51—0.515XVS+ [%]
HS+=HS-=15—0.469XVS— [%] HS+=HS-=51—0.515XVS— [%]
HVPLL-Z4015 HVPLL-Z4019., VPLL-Z4025. VPLL-Z4045
; A 3 08% % A % 107%
¢ -+ > |V < -+ > v
‘ 98% 107%
] I ] I
51% | H [51% 57% | H 1'57%
VS+=98—1.922X (HS+% /= (3HS-) [%] VS+=107—1.877 (HS+% 7=13HS-) [%]
VS—=98—1.922X (HS+Z%/=ldHS-) [%] VS—-=107—1.877 (HS+% 7=1ZHS-) [%]
HS+=HS—=51—0.520XVS+ [%] HS+=HS-=57—0.533XVS+ [%]
HS+=HS-=51—0.520XVS— [%] HS+=HS-=57—0.533XVS— [%]

2/2 =nnzs: 2018FE 7 AIRTE



